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SA 2L
I SEg NSE dIAMHIA MS
CHl: AIDIO| MIZoHs DI/ R AHIATIZ (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—HHE M 100,000 +300H 3,000
OoIZUE a2 25 7
27,0003 x2&5+2600 2 1,404
OLlZEgE=E SALHEA 2
91,5003 *28F A %260 A 4,758
oczug 7Y 10,0002 *3=5%2600 A 780
OFDIS=ZE F4¥Z I 88 72
20,0003 2600 A 520
ORIRNA ZIHAEN S)
500,000 22 1,000
OXse&I| |Xl2ell
91,0008 %12 91
OSPIS FOSE 2 22AYLEE 29
140,000 *269H 2 3,640
02 S3=gHl 30,216 41,377 A11,161
Osgaiagagll =X 22l
47,0002 «44CH = 122 24,816
Ools2ad JJes
135,000& « 12& 1,620
OZE statdst)] Mz & S4ls
25,0003+ 122 300
Otlefg Stz 40,0003 * 122 480
OXtMItH FBIES H&DID| |2+ Y
ul 250,000 122 3,000
308 AHXIEMSOIE 27,739 25,106 2,633
18 SIS0t & A AS A 27,739 25,106 2,633
OXMUFUSEZ2ALE 2F
27,739,000 x13] 27,739
405 AtaHE = 115,380 63,99 51,384
01 L ESFISHI 115,380 63,996 51,384
OR0IIAER)| 72 U &X
27,000, 0002 =2CH 54,000
Ok% S=aLs)| ud #
8,500,000 2CH 17,000
ORHIYARE RS0l 2l
1,200,000 = 15CH 18,000
OXtsEI| wH -
3,500,000 «2CH 7,000
Oulgds =8I E ui +
4,500,000 *1CH 4,500
OB E MXEAMY wH 2
1,540,000 2CH 3,080
ORIEE AHY wH 7
450,000 ~8CH 3,600
OuAE dNUAEI| WA F
650,000 +8H 5,200
ORlgs ZEZeld F

500,000 *6CH 3,000




SN oI T
g oEE NEE dFNHIA MBS
CH9l: AIRIO| HIZBHE QIIBH AHIAKIS (crol: m2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
KT AR SHIXIE 25,074 22,889 2,185
= 25,074
201 =3 24,174 21,149 3,025
= 24,174
01 AtR2te|Hl 22,1% 20,669 1,525
OolERHYR 22 1Y
200,000 x3EH *23] 1,200
= 1,200
OOlAYD248 Sa0)A]
9,000 x4 4123 1,728
= 1,728
Ofdg: =8 &4 ¢
400,008 *113] 4,400
2 4,400
OoAYS T ATBE 2
556,500& * 128 6,678
= 6,678
OXXOA BSE HH HE
5,000 +1,000 5,000
= 5,000
0oL =X SABX 7Y
29,7003 +208 A%23] 1,188
2 1,188
o0 E22 M 400,00024+5% 2,000
2 2,000
® 2=2H| 1,980 480 1,500
OUAYR £X WL
40,000& x 122 480
= 480
ORIRFAHE GATRHS S)| SHR
5,000& x300H 1,500
= 1,500
202 04| 900 540 360
= 900
01 =LHAHI 900 540 360
OUALR DT U HTX A0l
60,0002 x3& +53] 900
= 900
IIEHSEANR 288 2 76,355 87,286 210,931
= 76,355
201 =3 70,835 80,806 29,971
= 70,835
01 AtR2t2|HI 70,835 80,806 29,971
OSH JISZAHSEL SR AR2cld] HlE
42,693,000 %12 42,693




SH: pEB™}
M OrEE NEE dFAMHIA WS
CH9l: AIRIO| HIZBHE QIIBH AHIAKIS (crol: m2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 42,693
OIIFHHSEAD HESHNE & S22
e 2,000,000 *13] 2,000
= 2,000
ON=BHS=0R ZAIRT 72
24,0003 x88 A *33| 6,336
= 6,336
OIS ASELE S| EH 7Y
220,000& *7 1 *43] 6,160
= 6,160
ONEBAHSSMDN 2% 25 A=
106,000 *13] 106
= 106
OIIIEHHSELR JI2 AR8E 7Y
483,000 * 102 4,880
= 4,880
OI=EBHESLR 228 79
650,0002* 103! 6,500
= 6,500
ONEBIHSZY248 S20HAY
9,000 *2Z*103|x 12& 2,160
= 2,160
202 Ot 5,520 6,480 A960
= 5,520
01 =WOdbI 5,520 6,480 A960
OY& IISZHESEANRESN U=
20,0003 *14H+12& 3,360
= 3,360
OSSR =& oYl
20,0002 223|128 960
= 960
ONFHAHSE(xS,52) 18 0]
60,0002 x4 Z 53| 1,200
= 1,200
QIASHH 29 838,029 886,678 A\48,649
201 L2 | 218,944 248,438 A29,4%4
01 At 22|l 47,364 56,480 A9,116
OSHIH AIR4A dXt=z
3,697,000& 123 44,364
OSHH 29 QRIS AtSH] ZAHHE &
E &9 3,000,000 *13] 3,000
02 32| 171,580 191,958 A20,378
O24dH AIR4 2tefd]
4,635,0002 123 55,620
OSHIH AL Se=
500,000& 123 6,000
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g OEE NS HIFAMHIA MBS
CH9l: AIRIO| HIZBHE QIIBH AHIAKIS (crol: m2)
SA - A - S9I(E) - HIRAY - BES ol &t G o HIDE2
OS4dH ALY |24 29|
9,005,000& 12 108,060
OBMEl AAE SXE% XY 248
120,000,000 * 1% 1,200
OBMEl AIAE SXP4 AOIE 9B 2
100,000& *7H 700
307 212t01 & 619,085 638,040 A18,955
05 eizte(& = 619,085 638,040 A18,955
OZdt2g Q2SI
51,590,410 128 619,085
Y2 AH| (U EE D) 108,140 388,791 A280,651
ol 2 FH] 64,124 121,972 Nb57,848
QlEAR | 64,124 121,972 Nb57,848
101 e124d| 64,124 121,972 Ab57,848
01 2= 60,228 118,171 N57,943
OAlteI22+2
11,9503 x14Z+30A| 2+ 122 60,228
02 JIEE 3,8% 3,801 %
OAZtel2ReY
10,8213 x 12 %30AI 2H+ 123 3,8%
IEETT 44,016 266,819 £222,808
IR 44,016 266,819 £222,808
201 Bt 15,216 211,379 196,163
01 Al 221 5,216 211,379 196,163
OLlE#EY 2% S-S
200,000 123 2,400
O Il MRS
5,500 18L& * 128 1,188
OdioldEeH &, E5EME 2
291,700 »30H 3 2,626
O=SAEX 72 (M)
29,70021%28 A %122 713
OJI=ee +82 9jst 224
9,000& 8 +7L+ 123 6,048
Oo0lsgIda 24 103,410& 122 1,241
OFHL! BHAANEESE +
1,000,000& %12l 1,000
202 0| 25,200 50,400 A25,200
01 2L AL 25,200 50,400 225,200
OJl=2UWs& o
140,000 x15F « 122 25,200
203 ZR =& 3,600 5,040 1,440
04 2A2LHE=H] 3,600 5,040 1,440
ORNM2EHRF=AHI
300,000~ 122 3,600




